K 8 wérksheets

Surface Area of Rectangular Pyramid

Length =5 cm; Width = 7 cm; Height of
the slant faces =4 cm

surface area =

Length = 8 ft; Width = 3 ft; Height of the
slant faces = 11 ft

surface area =

Length = 7 yd; Width = 4 yd; Height of
the slant faces =8 yd

surface area =

Length = 12 cm; Width =9 cm; Height of
the slant faces = 6 cm

surface area =

Length = 3 m; Width = 2 m; Height of
the slant faces=1m

surface area =

Length =5 in; Width =5 in; Height of the
slant faces =5 in

surface area =
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